COLLEGE ALGEBRA FINAL EXAM EG2 NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE REQUIRED ON THIS TEST.
FOR GRAPHING CALCULATOR SOLUTIONS, INDICATE METHODS (GRAPH) USED.

1. Solve for X: 2. Calculate:
8.9 x 10'? 3
- — a) b) V1,000,000
X(X -21) 100 6.4 x 102

. s
c) /1,000,000 q) i 101

4 + 1
3. Simplify the radical: 4. Give the value if possible:
a)  JTosx°Y® a) -27%/3 b) _253/2
By JTosx°y* ) (-27)7%3 4 (-25)32
5. Find the vertex and graph 6. Find the vertex and graph:
Y= -4X% + 20X + 6 X=Y?-8Y+12
7. Find the roots in exact (radical) form. Use graphing calculator

methods and synthetic division. Tell what you did:
X% - 6X° - 8X? + 48X + 64 = 0



8. Find the domain: 9. Solve (use your favorite method)

a) Y=3X-2 X +2Y + 2= -1
2X + 3y + 22 = 5
-X + Y + 52 = 4

b) Y:__._E._-r_g——

X? +3X-4
) y=/x?+3x-4
10. Solve the system: 1la) 1logg 30 =
XYy = 30
Y =2X - 7

b) ln e =

c) log,, 10% =

it

d) 1ln (e'° - &%

Solve for X:

12. 123 -2 = BX 13.. A population grows from 6,000
in 1990 to 8,900 in 1992, If

Y = Ybekt , £ind "k" and estimate

the population in 2002.
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